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“People often complain that products are not made to last. They feel that making products
that wear out fairly quickly wastes both natural and human resources. What they fail to see, how-
ever, is that such manufacturing practices keep costs down for the consumer and stimulate de-
mand.”

Which do you find more compelling the complaint about products that do not last or the re-
sponse to it? Explain your position using relevant reasons and/or examples drawn from your own
experience, observations, or reading.
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The following appeared as fart of an article in a daily newspaper.

“The computerized onboard warning system that will be installed in commercial airliners will
virtually solve the problem of midair plane collisions. One plane’s warning system can receive sig-
nals from another’s transponder — a radio set that signals a plane’s course — in order to deter-
mine the likelihood of a collision and recommend evasive action.”

Discuss how well reasoned you find this argument. In your discussion, be sure to analyze the
line of reasoning and the use of evidence in the argument. For example, you may need to consider
what questionable assumptions underlie the thinking and what alternative explanations or coun-
terexamples might weaken the conclusion. You can also discuss what sort of evidence would
strengthen or refute the argument, what changes in the argument would make it more logically

sound, and what, if anything, would help you better evaluate its conclusion.
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1. “S B4 BT VE SOR B
Sample Topic 1

“People often complain that products are not made to last. They feel that making products
that wear out fairly quickly wastes both natural and human resources. What they fail to see, how-
ever, is that such manufacturing practices keep costs down for the consumer and stimulate de-
mand.”

Which do you find more compelling the complaint about products that do not last or the re-
sponse to it? Explain your position using relevant reasons and/or examples drawn from your own

experience, observations, or reading.

A #(64))

Many people fell that products are not made to last, and correspondingly, many natural and
human resources are wasted. On the other hand, it can be noted that such manufacturing prac-
tices keep costs down and hence stimulate demand. In this discussion, 1 shall present arguments
favoring the former statement and refuting the latter statement.

Products that are not made to last waste a great deal of natural and human resources. The
exact amount of wasted natural resources depends on the specific product. For example in the au-
tomobile industry, the Yugo is the classic example of an underpriced vehicle that was not made to
last. Considering that the average Yugo had (not “has” since they are no longer produced! ) a life
expectancy of two years and 25, 000 miles, it was a terrible waste.

Automobile industry standards today create vehicles that are warrantied for about five years
and 50, 000 miles. By producing cheap Yugos that last less than half as long as most cars are war-
rantied, the Yugo producer is wasting valuable natural resources. These same resources could be
used by Ford or Toyota to produce an Escort or Tercel that will last twice as long, thereby reduc-
ing the usage of natural resources by a factor of two.

Human resources in this example are also wasteful. On the production side, manufacturers of
a poor quality automobile, like the Yugo, get no personal or profession satisfaction from the fact
that their product is the worst automobile in the United States. This knowledge adversely affects
the productivity of the Yugo workers.

Conversely, the workers at the Saturn plants constantly receive positive feedback on their
successful products. Saturn prides itself with its reputation for quality and innovation — as is seen
in its recent massive recall to fix a defect. This recall was handled so well that

Saturn’s image was actually bolstered. Had a recall occurred at a Yugo plant, the bad situa-
tion would have become even worse.

Another factor in the human resources area is the reaction by the consumer. A great deal of

human resources have been wasted by Yugo owners waiting for the dreaded tow truck to show up
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to haul away the Yugo carcass. Any vehicle owner who is uncertain of his/her vehicle’s perfor-
mance at 7 AM as he/she is about to drive to work, senses a great deal of despair. This is a great
waste of human resources for the consumer.

While the consumer senses the waste of natural and human resources in a poor quality prod-
uct, so does the manufacturer. People who argue that low quality manufacturing processes keep
costs low for the consumer and hence stimulate demand should look at the Yugo example. In the
mid-1998’s the Yugo was by far the cheapest car in the United States at $3995. By 1991, the

Yugo ‘was no longer sold here and was synonymous with the word “lemon.”

C (4 41)

I find the response to the complaint more compelling. Although the complaint is valid, it is
most often the case the building a product to last forever will indeed cost more than the average
consumer is willing to pay. Creating such a product would require more materials and/or more
heavy-duty wear resistant materials which inherently are more expensive. Another factor that
would drive costs up is the fact that demand for products would decrease. The demand would de-
crease since people do not have to replace old products with new products as often. With the in-
creased variable costs for materials combined with a reduction in the production volume associated
with lower demand. manufacturers must raise prices to break even or maintain the current level of
profits.

Although a few producers may make products to last, it is understandable how these compa-
nies can be driven out of existence. If a new competitor enters the market with a similar product
that has a shorter life but a substantially lower price, then they will probably steal major portions
of the other company’s market share. The effects depend heavily upon the consumer’s perception
of quality and what the customers requirements from the product actually are.

For example, consumers may decide between two types of automobiles. One car may be built
to last a long time but may not have the performance or be as comfortable as another car that is
cheaper. So most consumers would purchase the cheaper car even though it may not last as long as
the heavy-duty car. Consumers may not realize that the more expensive car is of higher quality in
the sense that it will last longer and will not be willing to pay the extra cost.

Consumer decisions also depend on what consumers are actually looking for in a product.
Consumers typically get tired of driving the same car for many years and want to buy new cars
fairly often. This tendency forces producers to keep costs low enough to allow low enough prices
for people to buy cars often. People don’t want cars to last forever.

In conclusion, producers are in the situation that they’'re in due to external forces from the
consumers. Producers must compete and they have found the best way satisfy the majority of the

consumers.

E %% (2 41)

I find the response better than the complaint of people. The response seems to originate

7



without much thought involved. It is more of an emotional complaint than one anchored in logic
or thought. Yes, it is a waste of human resources but that is without consideration to the bene-
fits: lower costs and stimulated demand. Thus, the response fails to recognize the benefits.

The strength of the response is that it forces the reader to reconsider the complaint. It adds a
new dimension to the argument. It, however, fails to address the issue of wasting human re-
sources. Does this mean the responder agrees with the notion of wasting resources.

In all actuality both the response and complaint as ineffective. The complaint doesn’t recog-
nize or address the benefits, like the response doesn’t address the issue of wasting resources. The
response, however, does bring in a new dimension and thus weakens the argument of the com-

“plaint.

2. W AR SR BY

Sample Teopic 2

.The following appeared as fart of an article in a daily newspaper.

“The computerized onboard warning system that will be installed in commercial airliners will
virtually solve the problem of midair plane collisions. One plane’s warning system can receive sig-
nals from another’s transponder — a radio set that signals a plane’s course — in order to deter-

mine the likelihood of a collision and recommend evasive action.”

Discuss how well reasoned you find this argument. In your discussion be sure to analyze the
line of reasoning and the use of evidence in the argument. For example, you may need to consider
what questionable assumptions underlie the thinking and what alternative explanations or coun-
terexamples might weaken the conclusion. You can also discuss what sort of evidence would
strengthen or refute the argument, what changes in the argument would make it more logically

sound, and what, if anything, would help you better evaluate its conclusion.

A (6 4T)

The argument that this warning system will virtually solve the problem of midair plane colli-
sions omits some important concerns that be addressed to substantiate the argument. The state-
ment that follows the description of what this warning system will do simply describes the system
and how it operates. This alone does not constitute a logical argument in favor of the warning sys-
tem, and it certainly does not provide support or proof of the main argument.

Most conspicuously, the argument does not address the cause of the problem of midair plane
collisions, the use of the system by pilots and flight specialists, or who is involved in the midair
plane collisions. First, the argument assumes that the cause of the problem is that the
Planes’ courses, the likelihood of collisions, and actions to avoid collisions are unknown or
known. But if the cause of the problem of midair plane collisions is that pilots are not paying at-
tention to their computer systems or flight operations, the warning system will not solve the colli-

sion problem. Second, the argument never addresses the interface between individuals and the

8



system and how this will affect the warning system’s objective of obliterating the problem of colli-
sions. If the pilot or flight specialist does not conform to what the warning system suggests,
midair collisions will not be avoided. Finally, if planes other than commercial airliners are in-
volved in the collisions, the problem of these collisions cannot be solved by a warning system that
will not be installed on non-commercial airliners. The argument also does not address what would
happen in the event that the warning system collapsed, fails, or does not work properly.
Because the argument leaves out several key issues, it is not sound or persuasive. If it includ-
ed the items discussed above instead of solely explaining what the system supposedly does, the ar-

gument would have been more thorough and convincing.

C%(4 1)

The argument is not logically convincing. It does not state whether all planes can receive sig-
nals from each other. It does not state whether planes constantly receive signals. If they only re-
ceive signals once every certain time interval, collisions will not definitely be prevented. Further if
they receive a signal right before they are about to crash, they cannot avoid each other.

The main flaw in the argument is that it assumes that the two planes. Upon receiving each
Other’s signals, will know which evasive action to take. For example, the two planes could be
going towards each other and then receive the signals. If one turns at an angle to the left and oth-
er turns at an angle to the left and the other turns at an angle to the right, the two planes will still
crash. Even if they receive an updated signal, they will not have time to avoid each other.

The following argument would be more sound and persuasive. The new warning system will
solve the problem of midair plane collisions. Each plane will receive constant, continual signals
from each other. If the two planes are headed in a direction where they will crash, the system will
coordinate the signals and tell one plane to go one way, and the other plane to go another way.
The new system will ensure that the two planes will turn in different directions so they don’t
crash by trying to prevent the original crash. In addition, the planes will be able to see themselves

and the other on a computer screen, to aid in the evasive action.

E % (2 41)

This argument has no information about air collisions. I think most cases happen is new air-
ports because the air traffic is heavy. In this case sound airport control could solve the problem.

I think this argument is logically reasonable. Its assumption is that plane collisions are caused
by planes that don’t know each others positions. So pilots can do nothing, if they know each
other’s position through the system it will solve the problem. If it can provide evidence the prob-
lem is lack of knowledge of each other’s positions, it will be more sound and persuasive.

More information about air collisions is helpful, (the reason for air collisions)
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Perhaps, the best reason is
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For all these reasons, 1 therefore believe that
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“Reacting to statistics of increased crime and violence, some advocates have argued that it is
necessary for the entertainment industry to police itself by censoring television programs and pop-
ular music lyrics. However, civil liberties advocates argue that it has not been demonstrated that
watching television violence or listening to violent lyrics in songs leads to real violence.”

Which do you find more compelling, the call for censorship of entertainment media or civil
libertarians’ response to it? Explain your position, using relevant reasons and/or examples drawn

from your own experience, observations, or reading.

Y SUBH 55 —HR 4 B PIA~A) FARE, 47 51 RIE T A 4R & A 3B B B M EF KRB L
7 (R RS 2 o B — SR B PO A SRR A R R,

BRI R AR LS, 8 1 RN AT

The issue of censorship of television programs and popular music lyrics is a controversial one.
On the one hand, free speech is one of our most important freedoms guaranteed by the constitu-
tions. On the other hand, increased crimes and violence are causing disintegration to the frame-
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